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Student Name:
Teacher Name:

Class Name/Subject:
Algebra Support
Period:

Assignment Week #: 2

NOTES: Complete all work on a separate sheet of paper.
Include the heading provided on each worksheet you
turn in. Show all work.

Monday

Dividing

To see why, let us look at what is meant by "division":

Division is splitting into equal parts or groups.

It is the result of "fair sharing".
Example: There are 12 chocolates, and 3 friends want to share them, how do they divide

the chocolates?

12 Chocolates
So, they get 4 each: 12/3 =4

12 Chocolates Divided by 3

Now, let us fry dividing the 12 chocolates among zero people, how much does each person

get?

Does that question even make sense? No, of course it doesn't.

We can't share among zero people, and we can't divide by 0. If we multiply 1/0 by zero we
could get O or 1. In fact, we can't have both possibilities, so we cannot define 1/0 to be a

number.

So, it is undefined.

Tuesday

MUL+i-S+eP
E4avVa+ions
(variables on
Both Sides)

Steps to Solve:

Simplify each side of the equation if needed. [Distribuie/Combine)

Use inverse operations 1o move variables to one side.

Sovle the remaining equation.

® O eO

Check your solution!

EXaMPLes

Directions: Solve each equation. Check all solufions.

L. 8x+17=2x+35

2. 7k +8=2k-37

Watch the signs!

It's okay to have
rational answers.

Always check
your work.
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Wednesday

Rather than working with the fractions, it can be easier to use
a process called clearing the fractions. Steps to solve:

Clearing the
Fractions

Identify the least common dencminator (LCD).

Multiply the entire equation by the LCD. This will clear the fractions.

©)
@
®

Solve the remaining equation.

®

Check your solution!

Directions: Solve each equalion by clearing the fractions.
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If you do not multiply
by the LCD then
you'll need to
simplify your final
answer.

Check your work!
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Most equations we have solved so far have only one solution.
Types of However, there are two special cases: no solution and infinite solution.
. Soive the equations below to see what happens.
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Directions: Solve each equation. Check all solutions.
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Student Name:

Teacher Name:

Class Name/Subject: Algebra Support
Period:

Assignment Week #: 2

Complete all work on a separate sheet of

paper. Show all work. Include the
heading provided on each worksheet
you turnin.

Monday

Tuesday

1.) What values of x make the ratio undefined?

X

2.) Simplify the expression. Find the values of x
that make the ratio undefined.
(x+3)(x+3)
x+3

1.) Solve for b. Check your work.
a) 4b+5=1+5b
b) 4b—4 =5b—8
Cc) 2b+4=10+5b

d) 2—2b=3b+17

3.) What values of x make the ratio undefined?

1

x2

4.) What values of x make the ratio undefined?
(Hint: Factor)

2.) Solve for a. Check your work.
a) 5+14a=9a—-5
b) a—15=4a—-3
Cc) 12a—4=14a—10

d -3+5+6a=11-3a

5.) Simplify the expression. Find the values of x
that make the ratio undefined.

2x—1

6.) Simplify the expression. Find the values of x
that make the ratio indeterminate?

2x—1

3.) Solve for n. Check your work.

a) 16-2n=-3n+6n+1

b) 16 —2n=n+9+4n

C) In+4=-5n+14+13n

d) 17-2n=2n+5+2n




Student Name:

Teacher Name:

Class Name/Subject: Algebra Support
Period:

Assignment Week #: 2

Complete all work on a separate sheet of
paper. Show all work. Include the
heading provided on each worksheet
you turnin.

Wednesday

Thursday/Friday

1.) Solve for s. Check your work.

a)0.55s+1=7+4.5s

L) 4s + 5 =2+ 3.25s

C)2s+4=10+ 2.5s

d)4s+8=72+5s

1)

How many solutions does the following equation
have?¢ Explain your reasoning and show your
work.

3(x+5)=—4x+8

How many solutions does the following equation
have? Explain your reasoning and show your
work.

—6(x+7)=—-4x—2

3)

How many solutions does the following equation
have? Explain your reasoning and show your
work.

3y +9) =12y + 13

2.) Solve for m. Check your work.

Q) 12—§m=2r+1

p)153+m=13—-m

C) 3.26d + 9.75d — 2.65

d)—im—4=£m—3

How many solutions does the following equation
have? Explain your reasoning and show your
work.

5x+8—-7x=—-4x+1

How many solutions does the following equation
have? Explain your reasoning and show your
work.

—6y+13+9y =8y —3

Which of the following equations have exactly
one solution? Choose all the answers that apply.
Justify how you know.

a)2x —31=2x—31
b) 2x — 31 = —2x — 31
C) 2x +31=2x—-31
d)2x —2=2x-31




